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“Algebraic Fractions -
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N Formulae

@ Section 21.2 Solving equations involving fractions
Note: An nvuahoi\ will olways
have an eV‘“'

Golve means to Find Hee
valug of x

Metod: 1) Find the ACD
2) Wrik W LCD on each numerates

\.' (D.{,.éu Ha denominator wnto
3) Swmpthy L0 LCD)

L) Mulbply what 13 1eH by H numerater

5) Use stabilizesrs o b"‘"ﬁ X purts togekler
amd constanbts 1o gek har

X = Number

(Example 1 )

Solve each of these equations:

no3X X _ s 2X—5 _X—2
07373 A 2

(Example 2 }

Solve the equation: — =
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| (ax) = 3(6) (3x) =5(3)
ax > ‘8 . 3*?'( -,
"l.‘ “Ix=q T 3| x=5
PR ] ‘. 2 %) mu‘m
27 4. X =2 LCD-
,Z| . if‘ 2, 0= 4
a(x) =1(6)
. A% = 6 e (3x) = a(a)
.’1\ xz) ‘ 3x = 1%
ésl X6 l73
Solve the foliowing equations
ZV s Yy
5. %zm 6. X3 "3
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|(;x) - ';ﬁw) 1 (x-3) 2(w)
x = A= 8
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K" - -;
S2 31 4 muthel ' g 3x—1 41
,4!‘ LCD= Y %I
1(3%1) = 4(2) Mulhply 1(3x-1) = 4 (s)
Inot =8 Ix A = 3% 4l
W oaxq |1 A | 3x=135 ™
=) “X"S : ,..s x: ” .3

Solve the following equations:
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2(1!") = 3(') |(1% -5) s I(X—l) C!:S&;nak
3 -5 = X-2 w
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/41 /5(| LCD:= 20 12 ,6’| l, ACD =6
S(K-S)‘ q(x-z) l(Xi'l) < 2(1X—§)
- 5:‘;};2%{")"" Ktr = Ux-®
Wy o x=12% '“S [ :’3’(""0 :;o Fractim Exam Q .
+ '7-'4 '_'5)(" -3 a) weik as @ single  Fracthion
; 2% 57
K 2AX +*6X ACD =10
Solve the following equations: /gl Z'
Y 2 '
I 7 I - q
tox = X
4(2x) - 3(x) = 2() X hom = ,f‘.’.‘
8x - 3x = 10 Sumql frac 10 |
Sy 5% 210 ' e equutim
S| 7% 2 178 b) Hemce, or otherwise solwt m
0 g2 &Y AX t “X‘ -3
#3x By A9 wo £ Y 3 1 2
15. & -2 =5 2C0- 8 16. 2 —2=2 -
A A4 ZoAZ A C B
2(3x) - 105x)= ¢(v) yax)-3(x)- g(s) |.\’\'/ )'0.5‘)’
ox-5x= 4 $x-3% = 30 pax  _"q -0
IX= 4 _gf 5% =30 |y —_— — — 100~
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Solve the following equations: —_ ' -
2x — 1 _ 6 _
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19.X:2+X;3:% 20.:&':2_}(;3:%
Solve the following equations:
21. 3x—1_x—3_4 22.x—2+2x—3:l

6 4 3 5 10 2

23, 2x—3+1:x—‘| 3x—'|_2x—5:

Solve the following equations:

X—2 , x—3_x—1 26, X —1 _x—1_4
25. 3 + Z 5 4 5

3x—2 _ 3x+1_2 3(x — 4) _ 3(x—15)
27. 6 2 3 28. 5 + 3 = >

Solve the following equations:

20, 4x+5+2x+7+3x

5 2 10

30. The diagram shows an isosceles triangle ABC.

If |AB| = |AC],

(i) write down an equation in terms of x.
(ii) work out the length of [AB].

Exercise 21.2

1. x =90 2. x=5 3. x=3

4.6 56 611 7.3 8 11
0.1 10.3 1.7 124 13.5

14. 2 15.4 16.6 17. 2 18. 30
19. 2 20. 12 21.3 22.3 23.2

24. 1 25. 11 26. 31 27. -5 28. 30
29. =3 30. (i) x—4=XF2 i |AB =3
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